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2.1 FHSEH

51824 (odd and even number)
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2.1 FHSEH

If a2 + b? = c?, where a,b,c are integers, which of the following

cannot be a value of at+b+c?

A 2
B |
C-2
D 4
E6



2.1 FHSEH

If Xx and y are integers, is y an even integer!
(1) 2y-x=x*-y?

(2) x is an odd integer.



2.1 FHSEH

* nis an integer, is np even!
* (1) nis an even integer

* (2) p is an even integer
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2.2 FH. RS G

20 (factor divisor)
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a=b *c

6=2%3




2.2 FH. RS G

[FFE7 (prime number) 55%{ (composite number)
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2.2 FH. RS G
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2.2 FH. RS G

Two different primes may be said to “rhyme” around and integer if they are
the same distance from the integer on the number line. For instance, 3 and 7
rhyme around 5.What integer between | and 20, inclusive, has the greatest
number of distinct rhyming primes around it!

A.l2
B.l15
C.17
D.18
E.20



2.2 FH. RS G

¢+ 12: 2 3 5 7 11

’ 2221 19 1713

¢+ 15:2 3 5 7 1113

e 28 27 25 23 19 17/

e 1722 3 5 7 11 13

o 32312927 23 21

¢+ 18: 2 3 5 7 11 13 17/

e 3433 31 29 25 23 19

¢ 20:2 S5 o5 /7 11 13 17 19
’ 33 3/ 35 33 29 2/ 23 21
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2.3 REZR

[RXZEL (prime factor)
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o |2=2%6=27%2*3
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2.3 REZR

If x is the product of the positive integers from | to 8, inclusive, and i,
k, m and p are positive integers such that x= 2' 3k 5™ 7P | then i+ k +
m + p=

A4 B.7 C8 D.Il E. 2



2.3 REZR

The product of the units digit, the tens digit, and the hundreds digit of
the positive integer m is 96.

What is the units digit of m?

(1) mis odd.

(2) The hundreds digit of m is 8.
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2.3 REZR

A school administrator will assign each student in a group of n students to one of
m classroom. If 3<m<|3<n, is it possible to assign each of the n students to one

of the m classrooms so that each classroom has the same number of students

assigned to it!

(1) It is possible to assign each of 3n students to one of m classrooms so that
each classroom has the same number of students assigned to it.

(2) It is possible to assign each of 13n students to one of m classroom so that

each classroom has the same number of students assigned to it.



2.3 REZR

In the decimal representation of x, where 0<x<l, is the tenths digit of x honzero!

(1) 16x is an integer.

(2) 8x is an integer.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (|) alone is not sufficient.

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.



2.3 REZR

If the integer n has exactly three positive divisors, including | and n,

how many positive divisors does n? have!?

A4 B)> ()6 (D)8 (B2



Is the integer n odd!?
(1)n is divisible by 3.

(2)2n is divisible by twice as many positive integers as n.



2.3 REZR

X=amb" E—"1EF o, Um, n&BE(HEEN

If n is a positive integer and n? is divisible by 72, then the largest positive integer
that must divide n is

(A)6

(B) 12

(C)24

(D)36

(E) 48
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2.4 BPFRHIRN

* MBRLANRZIr
* M=gn+r

* M=a+b+c

* Fab, cEnAYEZ, MEnHIEZL

s 2 HFa, bEnHIEE, mhAYREFI=c/nHIFE
* =M, a, bEnHYEE, cEnHIEZ
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2.4 BPFRHIRN

* if a,b,and c are integers , is the number 3(a+b)-c divisible by 3?
* (l)atb is divisible by 3

* (2) cis divisible by 3.



2.4 BPFRHIRN

What is the remainder when the positive integer n is divided by the positive integer
k, where k>1?

(1) n=(k+1)3

VALGE

A. Statement (I )ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .
C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is

sufficient .
D.EACH statement ALONE is sufficient .

E.Statements (1) and (2) TOGETHER are NOT suffiicient .



2.4 BPFRHIRN

If q is positive integer less than |7 and r is the remainder when |7 is divided by

q, what is the value of r !

(1)g>10

(2)q=2% where k is a positive integer .

A. Statement (|)ALONE is sufficient ,but statement (2) alone is not sufficient .
B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .
C.BOTH statement TOGETHER are sufficient, but NEITHER statement
ALONIE is sufficient .

D.EACH statement ALONE is sufficient .

E.Statements (1) and (2) TOGETHER are NOT suffiicient .



2.4 BPFRHIRN

T InsVEHEIEAERAN O F Iz

(a+b)"=a"+cja™'b+ca™2b+...... +b"

 What is the remainder when 9'? is divided by 7?



2.4 BPFRHIRN
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2.4 BPFRHIRN

If n and m are positive integers, what is the remainder when 3*(4n+2+m) is divided
by 10 ?

(1)n=2

(2)m=1

A. Statement (|1 )ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is

sufficient .
D.EACH statement ALONE is sufficient .

E.Statements (1) and (2) TOGETHER are NOT suffiicient .



2.4 BPFRHIRN

Am/n/NEEBD 9%, NRETInx

If s and t are positive integers such that s/t=64.12 ,which of the following

could be the

remainder when s is divided by t!

(A) 2

(B) 4

(C)8 (D)20 (E) 45
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2.5 EEE]

consecutive numbers 1EZ2]

o EEEHRISES — M IsE— TR E

The average(arithmetic mean)of the integers from 200 to 400,inclusive, is how
much greater than the average of the integers from 50 to 100, inclusive?

A.150
B.175
C.200
D.225
E.300



2.5 EEE]

EEEInTEE R, BHERB 11 ZEnHIEE

If n is an integer greater than 6, which of the following must be divisible
by 3?

(A) n(n+1)(n-4)

(B) n(n+2)(n-1)

(C) n(n+3)(n-5)

(D) n(n+4)(n-2)

(E) n(n+5)(n-6)




2.5 EEE]

EEEBET, BERE— 1 249E8

If n is a positive integer and r is remainder when (n-1)(n+1)is divided

by 24,what is the value of r ?
(1) 2 is not a factor of n.

(2) 3 is not a factor of n.



2.5 EEE]

If an integer n is to be chosen at random from the integers | to
96,inclusive, what is the probability that n(n + 1)(n + 2) will be
divisible by 8!

Al B3 ¢l p2 g
4 8 2 3

3
4



2.5 IELEEN

o N MELELRIEEBRLAMBIPI SRR 21EEHY, EN=M, N
R AEEREN, 7512 1,2,--m=1,0.

+ 1, 2, 3, 4, b, 6, 7lRL45R2091,2,3,0,1,2,3



Seven different numbers are selected from the integers Ito 100, and
each numbers is divided by 7.What is the sum of the remainders!?
(1)The range of the seven remainder is 6.

(2) The seven numbers selected are consecutive integers.



R TR ENE R

* What is the greatest common factor of the positive integers j and k?
ULSIRA
(2) jk is divisible by 5.



2.5 EEE]

For every positive even integer n, the function h(n) is defined to be the
product of all the even integers from 2 to n,inclusive .lf p is the smallest

prime factor of h(100) +1,then p is

A.between 2 and |0
B. between 10 and 20
C. between 20 and 30
D. between 30 and 40
E. greater than 40
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